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right: The triangle
has 1 right angles
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Equilateval
All three sides are the
same length.

A special
kind of
isosceles

. triangle
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acute: The
triangle has
3 acute angles.

r——t:btuse: 'ﬁ\-—e_
triangle has
1 obtuse angle and

A 2 acute angles
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Isosceles Scalewe
At least 2 of the All three sides
sides have the have different
same length. g lengths. 2




Proportions Solve each proportion.

X =L 4_14 12 _ 30
=35 35 2. 3= 31.5 3. 7 =37 14.8
St W
| werte .|
|
i
8 n_13 2l
5= N2 > 5= 25 2 - 7=% 49

Find Slope Find the slope of the line that passes through each pair
of points.

7. (—1,1),(-3,7) —3 8. (2,0),(0,2) ~1

3
9. (—6,—1),(—3,4) 3




